Y —; 1 TP XTI RN TN TNy

106 -F 2 B K 3§ $8 At &7 AR

3 LIEp rit4 106.03.01
11.45 AM { 37

x & A
TS i | g | pa | S
5 Gy it

L >,
) )
4 « g

i
ST,
=

™

A=
4%
A-
45 |+
A-
+9%

A~ =i

R
/\_
T S
A
W
/\_
&
o

A=

Im}
% =

Hef 1

K-1 1000M 1

K-2 1000M

K-4 1000M

C-1 1000M 1 1

C-2 1000M

K-1 200M 2 1

K-2 200M

C-1 200M 1

SUP

HAxio4i

NTFRPININIEPINDNINDNWIFLININ|IE

B

=
NINININ|F

1 K-1

R IN[INININ

1 C-1

N IO |N|©

-
4
W

f

R R

L
P
W%
ot
e
Bl
|4
A=
W%

FPRT A | R F | stk

i

K5s

e

K-1 500M 1

K-2 500M

K-4 500M

NIFR,IFL|DN

K-1 200M 1

C-1 200M

SUP 2

HAxioi

grros 1 1 1

NIFRL[INININIDN

5 K-1 1

1% C-1

g
-l
[\8

Olw|hlO|OI|W[(N|[PLINDNO|O



SR T

1064 2 B A & $8 4 sh AR B

FOHETNARFE IR F e

L BF-FARIE LR RY

£ SRR T S
735
- WS R FES|EAD PR AZ S| s P mﬁ%éﬂ”aiﬁkiﬁhﬁ
g * g |25 78 A& /5| % 23 7
1 |77y & |saE~ BEpE EHE TR M+ | =7 - | F R A+ B HRE 2 '?fi(ﬁ
2 = TV B | HRE R FH R ANE
3 TS Rk sEd 7 |En2 RRE |
4 HiER & &% |Fax ¥
5 ¥ 4p ok E e R A g 133
6 &iER BE | o Hiaz
7 Fl= 47 B PR & i E 75
8 R AR
9 M = Y
10 ¥R iF e ]
11 PN B R
12 Fli& % % 5 fr
13 Hel g
14 ﬁ‘”]“ P th ]
15 SN it
16 & T
17 B 3)
2+ 300 | 7,200 | 600 | 7,800 | 5,400 | 1,800 | 600 300 300 | 4,500 1,200 | 600
AeY 43
b 2 i pat L AP 2| S0 RT | R AK ;{ﬁﬁ
< g < g <7 <7 HE I
1 F 42 E 45 4 e 1 3 £ BE® s 3
2 | B#Ew | rdls2 | #HP®E ARG | BB
3 PR IK ek 33 [ S
4 M -4 B % FEE
5
2 600 900 2,400 300 1,500 2,100




